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L. Vocabulary:
A. Fill in the blanks with the words given. There is one extra word. (6)

(nutrition-in comparison-lowering —predict-stretched -distract-
procedure)

1. It is still not possible to------=--------- accurately the occurrence of earthquake.
2. What is the--------=-=====n------- for opening a bank account?

3. The tallest buildings in London are small-----------=------- to those in New York.

4, This food gives your body adequate--------------- to be healthy and strong.
5. The film managed to-------------- me from the problems for a while.
6. She---------mn---- her neck up to see over the heads of people in a crowd.

B.Word Definition: Match the definition in A with the words in B. (2)

A B
7. The quality of being amusing a. global
8. Covering the whole world. b.destructive
9. The smallest part in our body. c.humour
10. Causing damage. d. cell
C.: Choose the best choice. (3)
11. You must adapt to the---=-==-==-=------ of the society you live in.
a. Proportions b. occasions c.norms d. experiences
12. By using a computer, the whole------------- only takes a millionth of a second.
a. process b. posture c. power d. progress
13. The engine is running------=--===-------- now.
a. seriously b. smoothly c.happily d. cheaply
14. The doctor told him to cut down the--------------- of fat.
a. function b. confidence c. importance d.consumption
15. Life is hard at the moment, but we arg-------------------= .
a. floating b. surviving c. creating d. pulling
16. They are a proud and---------------- people.
a. previous b.equipped c. located d. independant




D. Fill in the blanks with the suitable words of your own. (1;5)

17. A piece of equipment measuring and recording the power of an earthquake is called
Semmememmmmm oo oo .

18. The loudness of a sound, from things like TV, CD player, etc. is called-V ------=-----

IL.Grammar: A. Choose the correct answer. 3)

19. He has--------- information about computers that no one can be compared with him .
a. SO many b. too much ¢. so much d.enough

20. He dropped the glass------------ he was taking it out of the cupboard.

a. as b. since c. because d. whether

21. He had lots of free time and read a lot of books------------- he was in London.
a. because b. when ¢. during d. since

22. The greenhouse effect--------- by human activities is dangerous for the planet.
a. enhanced b. enhancing ¢. to enhance d. enhances

23. Sorry Sir, -----========-=-=-= in this area is forbidden.

a. Parking b. Park. ¢. To park d. Parked

24. Imagine----------- with someone that never stops----------=-=--~ ,

a. living/talking  b. to live/talking c. to live/to talk  d. living/to talk

B: Complete or rewrite the sentences with the parts given. (3)
25. We've got a few minutes to wait for the train. Let's have a cup of coffee.

------------------------------------------------------------------------------------ (Since)
26. The mountain was too high for us to climb.
(such)
27. We haven’t got enough money to go on holiday at the moment
(too)

C. Rewrite the sentences with the reduced form of the clause (2)
28. The company sent me a catalogue which contained all the information.

Mini Comprehension: A. Read the sentences and choose the best choice.(3)
30. In earthquake, most people die because buildings fall on them. It is better and less
dangerous to run outside and stay in open spaces.
We can understand that------==-=---====---=-==ssomozccm=c-- j
a.Buildings kill people.
b.People shouldn’t live in buildings.
c.People should leave the buildings when earthquakes happen.
d.It is better to die in building than to stay in open spaces.




31. “Good posture shows confidence. Stand firmly. Too much movement can be

distracting to your listeners.

The best heading for the above sentences is--------- -~
a.Facial expressions b.Having confidence in speech
c.Stance and body movements d. Using humor

32.”scientists think there will be a rise in sea levels and rainfall patterns will change.”
The sentence above refers to--------------====-=---- .
a. describing weather b. describing climate
c. effects of global warming d. describing earthquake

Cloze Test 1: Read the passage and choose the best choice.(2.5)
Substance has different states such as liquid, solid or gas. The difference ---33—on the
movement of molecules. In solids, the---34---between the molecules is very strong.
In liquids, the molecules move smoothly and change—35---easily. In gas, however, the
molecules can move in all---36---because there is a lot of space between them and the
force that---37---the molecules together is very week.

33.a. insists b. depends c. consists d. locates
34.a. force b. fuel C. norm d. tool

35.a. function b. position c. opinion d. action
36.a. conclusions b. productions c. conditions d. directions
37.a. makes b. has c. keeps d. takes

-Cloze Passage 2: (2.5)

One of the biggest businesses in the world is the tourist---38---. Providing transportation
and the places to---39---for tourists is one of the main industries in many countries. ---
40---people are now having longer---41--- and more and more interested in seeing other
parts of the world, this business will surely continue to—42---.

38.a. industry b. product c. selling d. spending
39.a. make b. tell c. speak d. stay
40.a. Though b. Since c. When d. While
41.a. hours b. vacations c. families d. jobs
42.a. decrease b. mention C. grow d. express




Reading Comprehension 1: Read the text and answer the questions. (5)
People are more concerned about the environment as a result of harmful effects of
human activity. Some of these activities cause pollution and some are destroying the
environment. Sprays can harm the Ozone Layer. Smoke from factories can cause acid
rain containing dangerous chemicals. The increase in carbon dioxide in the atmosphere
can cause an increase in the world temperature. Cutting down the trees, wasting
resources ,and polluting the sea and the rivers by industrial waste will have damaging
results to our planet.

43. According to the text, Sprays--vesse-viiosamans the Ozone Layer
a. protect b. change c. enhance d. damage
44. The planet’s warming is the result of---------=---eeeeeev :
a. dangerous chemicals b. smoke from factories
¢. an increase in carbon dioxide d. industrial waste
45, Acid rain is formed from s ewsoomsammss :
a. wasting resources b. cutting down trees
¢. sea and river pollution d. smoke from factories
46. We can guess from the context that the word “waste” in the 7 refers to--------
a. materials thrown away b. additions
C. sources d. chemical substances
47, e is a layer above the earth’s surface that protects the earth from

harmful rays from the sun.

Reading 2:(5)

Speaking a foreign language is what most people want. Every year many people start
learning one. Some people try at home with books and tapes. Some use the radio or TV
Programs; thousands go to the evening classes. If they use the language only 2 or 3
times a week, it will take some time to learn a language like language learning at
school. Some try to learn it fast by studying 6 hours or more a day.

Some travel to the country where the language is spoken to learn it. However, most
don’t have enough money to go abroad. Some people need to read language to do their
work better. For example, students, doctors, and scientists need to read foreign books
and reports. Laboratories, good books and tapes will help to learn as it is hard, but
nothing can be as effective as a good teacher.
48.Language learning at school--------cmeceem e
a. almost takes a long time
b. does not prepare children for life
¢. is the quickest way to learn a language
d. is harder than language learning at home

49. According to the text, most people do not have enough money to------------- .
a. do their work better b. go to the evening language classes
c. read foreign books and reports d. travel to English-speaking countries
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50. We understand from the text that learning a language by

effective way.
b. the help of a good teacher

a. the use of labs and tapes
c. traveling to other countries d. good books and reports

51. Based on the text, learning a foreign language isn’t difficult.

a. True b. False ¢. Not mentioned

52. How do some people try to learn a language fast?

............. is the most

Sentence Function: Choose the best function for each sentence. (1.5)

(Instructing-Defining- Explaining-Restating)

53. Since I didn’t know the solution of math problem, I asked the teacher.

Good Luelk
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